Monomials and Their Rules
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In the blank, put the base to the correct power.
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What do you notice about (x3)(x*) and the exponent to your answer?

add o M,D@/\MJS
2.)(42)(45)(43) = (4'4)'(4'4'4'4'4)'(4'4'4)
@)@ =_4

What do you notice about (42)(4°)(4%) and the exponent to your answer?
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What do you notice about (2a3)(3a®)(4a’) and the exponent to your answer?

Product of Powers:
When multiplying two powers that have the same base, _ (4 M the exponents.
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Power of a Power
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What do you notice about (x3 )* and the exponent to your answer?
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What do you notice aboyt (4%)3 and the exponent to your answer?
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Power of a Power .
When a power is taken to another power, m V\Jbﬁ‘ 'p(?jf the exponents.
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Quiotent of a Powers
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What do you notice about — --and the exponent to your answer?
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What do you notice about pvi and the exponent to your answer?
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Quotient of a Power
When two powers are divided with the same base, S Mb‘/'P’CK(JJ/ the exponents.
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Power of a Product
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When a product is taken to a power o AL bbdz the power to everything inside the
parentheses.
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When a power of a quotient needs to be found, find the power of the V\U\M\QAD\'M)( and the

power of the (Ao ey A3
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Negative Exponents:
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What do you notice about the negative exponents verses a positive exponent?
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To simplify a monomial expression:
1. Make sure that each variable base appears exactly once

2. There are no powers of powers
(no exponents outside of parentheses)

3. All fractions are in simplest form



